-

Name :

Date:

Column A

(2x3) x4 = 2x (3x4)

3x(2+4) = (3x2) + (3x4)

4x3=3 x4

2 miillion 347 thousand 201

40 000 + 700 + 8

109

235
9x0=0
8x1=8

24 + 0 =24

000000000C

Math Vocabularz
Matching Worksheets

Match the equation or clue in Column A with the correct term in Column B.
Write the letter in the box.

Column B

a. Zero Property of Multiplication

b. Short word form

4]

. A composite number

d. Commutative Property

0

. Identity Property of Addition

f. Expanded form

g. Identity Property of Multiplication

h. Distributive Property

i. Associative Property

Jj- A prime number




